
���� ���	

Measurement

 �� �
 �� ���	

�� �� �� �� ���������	


Shopping  �� �� ����	


 �� �
 ������ � �� �� �! �
 �"��
#�� �$� ��%	
 &'

# (� �) �
�* �� �+�,�� �- ���	
 ���� ���	
 �.

 �� �/ �0

 �-�� �1
 2, �� �3 �� ���




�4 �5�6 ���	
 &' �.��� �7�8 9�	
Maths at Home 
: �;
 �5 �� �<
 �&�, ��=

 �&�� �
 �� �/ , �;�� �? �<
 �@�A�* �4
��I= �����) ���� �+�� �C �/ �� �8����	
 �4��M	
 �.

 �� �/ �@�A�* �� �
 �� ���	
 �� �E� &' �F�, �A���6 �1
 , ���� 9, �" ���	
 �G���6	
 ,H �� �I�� �J ��	
K �L �I �5	
 ,H ���,� �,��	
/ ��� �,	
K �� �A ��	
 �&�� �
 �� �/ ,H �0
�M�,�N�	
/ �0
�O�	
K �P �J ���	


#�� �$� �%	
 �.���M �A �I �0

 �-�� �1��* �Q�R�� ���	
 �Q ��
�� �
 �� ���	
 �S/� �� �I

�T �� �+�6�* �T�� ���M �� �I �U�6 �V�

 �WX �1�6 �I ��
��� �I �/= (L8��, �� �0Y�)= �/= (� �� �� �, �I (.�� �%�, �I �/ Z[�� �I �/ , (F�, �) �/ ,\ ]� �� �I (� �$ �/ 2	^ �_�� �"��

#�� ���M �� ���	
 �L�8 �5���	
#�� �$� �%	
 &' �� �" �7 �� ���	�C (� ���M �� �I �Q �� �A�* �F �)

#�`�X �"�� &��	
 �� ��8��M	��* � �̀6 98 �5 �� �P= �T���N �Ia�*

# �Q �% �+�	
 &' �b�RY �I �J �0�I= �` �A�6 �V &��	
 �b �� ���M �� �I �F �N�6 �I cQ �C �d ���A���	
# �b��
/ �G= �L �I �/= �Q �% �+�	
 &' �b�	 �� �� �L �I �;�� �? �<
 �@�A�* �4
��I= �e�����	 �b �� ���M �� �I �F �N�6 �I cQ �C �0 �
 �-�� �����	

�U ���� �O ���	
 �U �I �� �)Y�A�	

 �� ���M	
 �.�� ���	 2	^ ���X�� �� �f
 �L���'f �����6 �N ��	
 �g�I�6 ���	
 �L�� �* (��	 �� �M &' �F9, �A�� ���	
 �Q �� �<
 �h �"�M �%�8

 �.
/�G �<
 �L �� �F9, �A�� ���	
 �! �
 �"�����	 �� �� ����	
 �L�C�I= 2	^ �b �*�"�M �V
 �L�N �� �8 �� �C # �g�I�6 ���	
 �L�� �* �.�'�� ���	
/
 �P= �L�N �� �8 �� �C # �$�i �-�	
/ �� �̀ �C�+�	
 �L �I (j�6 �V= , (L�8 �5 �� �F8� �? �/= (l���) �� �A�M�) �;
� �? �
�6 �� �� �I �
 �-�� �� ���	


# �� �� ����	
 �L�C�I= &' �� �+�,�� �- ���	
 �U�, 9�	
 2, �� �Q �O �� ���	
 �� �A 9�	
 �= �� �� �8
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1-12

�F �, �A ��
?�� �$��� ��	
 �4�I �n�,�X �8 �FC

?
 �� �$��� ��	
 �4�I ���� ���	 �/  �0 �
 �-�� �1�


  

�WX8� �� ��  4 = �4��M	
  �WX8� �� ��  2 = �4��M	
     
�P �� ����

:&,�8 �I �Q �� �C= 1
���� ���	
 &' �� �I �
 �-�� �� ���	
 ��
G �<


�b�	�I �����) �G
� ���	
 �; �& ��	


�WX8� �� ��  �WX8� �� ��  �WX8� �� ��  
�WX8� �� ��  �WX8� �� ��  �WX8� �� ��  

# �T�� �*�M^ �� 9��' ? �g�*� ��	
 �4 �/ �
 �O�	
 &' �p ��Y�� 
q�I   c& �̀ �+ �? r��X �A ��

?�WX8� �� �� �Q�X �"�	
 �4�I ���� ���	 �0 �
 �-�� ���� W� �J �� �s �F �C # �h ���� �<
 �� �*�M �t
 �U 9� ��  2

ا ðريب úق óا8 ت ðريب úق óا4 ت ðريب úق ó2 ت

������6 ��	
/ �����	
 �0

 �-�� �1��* �4��M	
 �����)
Measuring Length Using Meter and Centimeter
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�F �, �A ��
HF1 1K (�����61 1  �WX8� �� �� �T�A�X �V^ �d �� ��

# �4��M	
 �h�� �C�

  =

F1  = �4��M	
  

  v

F1  = �4��M	
  

:&,8 � �� �I ZQ �C �4�I ���� ���	 �� ���M �� ���	
 �0 �
 �-�� �1�
  3
   =

F1  
  v

F1  
  wM

F1  

 # �Q �N ��	��* �W6�A�� �� �I �Q �� �C=  4

,F1  = 9&�	���� ���X�	
 9F �-�	
 �4�I     ,     F1  = �� �i �s �<
 9F �-�	
 �4�I  =
#F1  = �� �� �� �<
 9F �-�	
 �4�I     ,      F1  = �� �$ �J �<
 9F �-�	
 �4�I

#  9F �-�	
 �L �I �� �%�)= �� �$ �J �<
 �F �-�	
/  9F �-�	
 �L �I �4 ���I= �&�	���� ���X�	
 �F �-�	
 v
? 9&�	���� ���X�	
 9F �-�	
 �4�I x/���8 �b�	�I ZF �s 2, �� �Q �% �"���	 �0 �
 �-�� ���� �� �i �s= �]M �s �F �C wM
  ? �� �$ �J �<
 9F �-�	
 �4�I x/���8 �b�	�I ZF �s 2, �� �Q �% �"���	 �0 �
 �-�� ���� �� �i �s= �]M �s �F �C G

 ? �� �$ �J �<
 9F �-�	
 �4�I x/���8 �b�	�I ZF �s 2, �� �Q �% �"���	 �0 �
 �-�� ���� c&�	���� �� �* �]M �s �F �C �/ �� �i �s= �]M �s �F �C  w�
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�F �, �A ��

F1 10F1 10F1 10F1 10F1 10F1 10F1 10F1 10F1 10F1 10
ã 1 = 10 سم + 10 سم + 10 سم + 10 سم + 10 سم + 10 سم + 10 سم + 10 سم + 10 سم + 10 سم

ã 1 = 10 ×  10 سم = 100 سم
ò100 سنتيمتر = (��I1
01 = 100 سم

F1 10 = �F�, ���	
 �4�I

:&,�8 � �� �I ZQ �N�	 ���� ���� �"�	
 �G�A�* �<
 ���� ���	 (� �8��I (����) �� �
 �� �/ �Q �i�'= ���� �s�
 5
  =

سم  ã  

  v

سم  ã  

  wM
 

سم  ã  
# �Q �� �C= 6

 F1   = 0 2 =F1   = 0 3 vF1    = 0 5 wM

F1 400 = 0   GF1 800 = 0   w�F1 1 000 = 0   /

# �T�� �*�M^ �y 97 �/ ?0 1 �`�	�I (l���) �� �A�M�) �0= F1 87 �`�	�I (l���) �� �A�M�) ? �4 ���I= �� �̀ �8=  7
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2-12

�F �, �A ��
? 9T �+ ���	
 �4�I �n�,�X �8 �F �C

F1G 1 = F1 10 = 9T �+ ���	
 �4�I

F1Ï 1F1Ï 1F1Ï 1F1Ï 1F1Ï 1F1Ï 1F1Ï 1F1Ï 1F1Ï 1F1Ï 1

? �
 ��
��	
 �����	
 &' 
 W���� ��8G �F �C
Ï 1 = ã 1سم + Ï 1سم + Ï 1سم + Ï 1سم + Ï 1سم + Ï 1سم + Ï 1سم + Ï 1سم + Ï 1سم + Ï 1سم

(���� ��8G z{ = (��I z
F1G z{ = 0 z

Ï 1  × 10 = ã 1سم = Ï 10سم 
 ? �4 �
�� �0Y �� ? �T�� ���M �� �I &' �� ���| �%	
 �U�M �-�	
 �}�~ ��f �Q ��

# (�����,I 1 �Q9� ���� �L �8 ���| �V �L���M �s 9Q �C �L�� �* �� �'�� ���	


10
10

10

H0K r��I

HF1GK r���� ��8G

HF1K r�����61

HFIK r�����,I

 
(.
�����,I z{ = (�����61 z

FI z { = F1z
FI z {{{ = F1 z{{ = F1G z{ = 0z

(���� ��8G 1 = (.
�����61 10
F1G 1 = F1 10

������,��	
/ ����� ��8 �
	

Decimeter and Millimeter

140



�P �� ����
:&,8 � �� �I ZQ �N�	 ���� ���� �"�	
 �G�A�* �<
 ���� ���	 (� �
 �� �/ �Q �i�'= �U 9� �� 1

  =

0  F1G  

  v

0  F1G

  wM

F1  0  

  G

F1  FI  

#H= �/= > �/= <K �h �1�6 ���	
 �� �)Y�A�	
 �5 �I �$ �h�� �C�
 2
wM  500 مم   50 سمÏ 4  vسم  Ï 12 =ã 4سم  12 سم

# �4��M	
 �h�� �C�
 3
  =

FI  = �4��M	


  v

FI  = �4��M	


? �x�= ��	
 �b ���'
��� �Q �̀ �' #F1 3 + F1G 2 x/���8 F1 23 : ry�	�V �4���8  r
�)�� r��N �+ ��   4
# �T�� �*�M^ �� 9��'  

  ?�`�� �A�6 �V &��	�C ���I�� �I 4 &' 
 W���� ��8G �F �C   5  
?F1G 3 �b�	�I �]M �s �e�����	 (Q �%�� �I (Q �N ���* �` �A �i�� W� ���M �� �I �F �C

H136 �� �" �+ �%	
 2	^ ���~���
K  
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3-12

�F �, �A ��
���X �%	
 �
 �� �� �<
 (��*�M ���� ��	
 �� �� �M �P= �F�, �A �� Q ��

 �b�	�I �n�,�X �8 ���� �� �F�	�A�	
 &' �� �8 �� �"�X�	
 �$�� �O�	
 �4 ���I= �L �I ���X �� �A �8
 ?� W+ �%�� �/ 
 W��I�,�C �L��Y�� �/ W� �A�X �1

# ���I�,�N�	
 �& �� ���� ���	
 �� �
 �� �/
? �����	
 �L �I �� �| �V= �0= ���X �C= ���I�,�N�	
 �Q ��

 

(��I 1 {{{ = (��I�,�C 1
0 1 {{{ = FC 1

10
10

10
10

10
10

H0K r��I

HF1GK r���� ��8G

HF1K r�����61

HFIK r�����,I

HFCK r��I�,�C

HF�K r��I��N�

HFCGK r��I� �N8G

# ���I�,�N�	��* ������ (.�'�� �I �L �� �� �
�6 �� �L �I W� �,�� �I= �F ��=   c& �̀ �+ �? r��X �A ��

# �Q �� �C= 1  �P �� ����
 0  = FC 4 =0  = FC 6 v0  = FC 7 wM

0 2 000 = FC  G0 8 000 = FC  w�0 10 000 = FC  /
# �h ���� �<
 ���� ���	
 �� �
 �� ���* �Q �V 2

 =���� ���	� ��	
 2�	^ �;
� �̀ �O�	
 �L �I �� �'�� ���	
سم
v9& �1 �$ �
 ���	
 �v���N�	
 �4�Iكم
wM�� �1 �$ �
 ���	
 �h�A�, �I �4�Iمم
G(��� 9, �" �I (����� �
 �A �I (G���� �� �A�M�) �� �C�� �1ã

���I�,�N�	

Kilometer
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# �U 9� �� 3
# �4 ���I �<
 =

FI 62   FC 62  F1 62  0 62  

# �� �%�) �<
 v

0 ��   F1 ��   FI ��  FC ��  

   ? �.
�����6 ��	��* �� �' �� �|�	
 �� �E� �4�I �F �N�' , ($��I= � (Q �%�' �� �' �� �� �4�I �P= �d ���� �+�6�	   4
 �L �I �� �̀ �� ��
 �P= �
 �A�* �4 �5�6 ���	
 2	  ̂
G�� �F�� , �� �� ����,�	 �� �$��� ��	��* 
 W��I 860 �� �'�� �I �A�M �) �T�8 �
�	
/ �P= �d ���� �+�6�	   5

 # �T�	q �y 97 �/ ?�WX8���� (��I�,�C 2 �� �'�� �I �A�M �) �Q �� # �g8��M	
 �e �+�� �L ��I �� �� ����	


 ($��I= 4 �b �I �5 �, �8 �P�C 
q^ 0 25 �`�	�I (l���) �� �A�M�) �L �I �U�6 �%�8 �P= �U��� �-�	
 �U�M�� ���8 � W��� ���' �F �C   6
 ? �
 ��
��	
 �P�� �� �+�	
 �� �I�� �-�	

#�� �G �
 �" ���	
 �� ���M	
 �S�X 9���* �Q ��   7
? �y�X �� ���	
 2	^ �4 �5�6 ���	
 �L �I (g8��I �� �%�)= �4�I �I  =

 9x �$�O9�	
 ��� ��	
 �L �I �4���� �� �f
 �
�6 �� r
 �I�� �4���8   v
#FC 1 �L �I ���� �C= �}�A�M �) :2+ ���� �� ���	
 2	^

# �T�� �*�M^ �y 97 �/ ? �x�= ��	
 �b ���'
��� �Q ��

�x �$�O9�	
 ��� ��	
 �� ��8
 �"�	

�y�X �� ���	


2 W+ ���� �� �I

r4 �5�6 �I

rh�A�, �I

0 913

ã 12
3ã 431

ã 850

ã 1 000

ã 725
ã 821

ã 6
12

ã 150

 

  # �y �7 �� ���	
 �F �1 ��	
 �L �I W����~ �+�	 W��	� �� �I �T ���
  wM
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�� �$ �
	

4-12�P �J ���	


Mass

�F �, �A ��
 9J �$ �<
 �L �I (0
�M�,�C 1 2, �� x��� �"�8 re�C , �Q�� ��= �� �̀ �8=

(0
�M�,�C 1 
L�"I
�s�'

���8�N	
    5*�-�	
/    g
�)


	
   
 L�

�MI    �C�?  �g�) �
	
 �P �J �/

(0
�M 1  �4�+�	
 ���X� �P �J �/
 ? 9J �$ �<
 �L �I (0
�M 100 2, �� � �̀6 �I cQ �C x��� �"�8 (��� �C= 10 �0=

 r� �
 �� �/ �0
�M�,�N�	

# �P �J ���	
 ���� ���	

 
(0
�M 1 000 = (0
�M�,�C 1

FM 1 000 = FOC 1

 c& �̀ �+ �? r��X �A ��
# �T�� �*�M^ �� 9��' ? �F �O �"�	
 �� ���| �V �;�� �? �<
 �L �I ���X �C= rP �J �/ �`�	 �F �O �"�	
 �� ���X �C �;�� �? �<
 �P��* �
 ���� �A �� �Q �� 1

# �T�� �*�M^ �y 97 �/ ? (0
�M 900 �b �� �J �/ \��, �� �h�	�) �0= FOC 1 �b �� �J �/ \��, �� �h�	�) , �Q�� ��= �� �̀ �8=  2
�P �� ����

: �Q �� �C= 1
FM  = FOC 3 =FM  = FOC 9 vFM  = FOC 7 wM

FM   = (0
�M�,�C �� �%�� GFOC 1 = (0
�M  + (0
�M 800 w�
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:&,�8 � �� �I ZQ �C �P �J ���	 �Q �i�' �<
 ��8
����	
 ���� �s�
 2
  =

100 جم  100 كجم

  v

1 جم   1 كجم

  wM

6 كجم   6 جم

# �Q�� �� �<
 �U 9� ��  3

٠٠

٤٠٠

٣٥٠
٣٠٠

١٥٠

٥٠

٥٠

١٠٠
٥٠٠

٤٥٠

جم ٠٠

٤٠٠

٣٥٠
٣٠٠

١٥٠

٥٠

٥٠

١٠٠
٥٠٠

٤٥٠

جم

 

# �P �J ���	
 �h�� �C�
  4
 =

FOC كجم

v

 FOCكجم

 wM

 FOCكجم

 #H���* �$ , r
 �C �� �I , �Q�"�� �� �IK �� ���, �C �h�� �C�
  5
 ِّí öو úل õع úلÇ öه úج óو úلÇ لى óع öن úي óóر öاه øلظÇ öن úي óÏ óد óع úلÇ �Pa �' # �L�������	���� �I �L�� �� �� �I �G ���6	
 �� �O �� �}�� ���	= : �P�6 �� �4����

 :äكو óي úäÃ õنöك úم õي
   13 íæسا õما ي õه óموع úج óم =

   2 íæسا õما ي õه óموع úج óم v
   13 �L �I �� �| �V= ما õه óموع úج óم wM
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5-12�� �A ��	


Capacity

�F �, �A ��
? �p ��Y�� 
q�I  &' ��	 z  �� �� �'=

١٠٠ مل

١٠٠٠ مل

 

��	 
z

250 مل250 مل250 مل250 مل
QI 250 + QI 250 + QI 250 + QI 250 = (��	 1

QI 1 000 = QI 250 × 4 = (��	 1

(��,� �,I 1 000 = (��	 1 
QI 1 000 = (��	 1

 �F�* �$�


(��	 1QI 250QI 1

�P �� ����
# ��	 2LX	  �n8� �+���	 �`���	^ �_�� �"�� &��	
  �P 9��	 1

 2:&,8 � ��I ZQ �C �� �A ���	 �h ���� �<
 ��8
����	
 ���� �s�

  v =  wM

(��	 3           QI 3(��	 2           QI 2(��	 250           QI 250 146



?�;�� �t
 �� �A �1 �F �C 3

١٠٠
٢٠٠
٣٠٠
٤٠٠
٥٠٠
٦٠٠
٧٠٠
٨٠٠
٩٠٠
١٠٠٠QI

QI

 =

QI  
١٠٠
٢٠٠
٣٠٠
٤٠٠
٥٠٠
٦٠٠
٧٠٠
٨٠٠
٩٠٠
١٠٠٠

QI

QI

 v

QI  
١٠٠
٢٠٠
٣٠٠
٤٠٠
٥٠٠
٦٠٠
٧٠٠
٨٠٠
٩٠٠
١٠٠٠

QI

QI

 wM

QI  

١٠٠
٢٠٠
٣٠٠
٤٠٠
٥٠٠
٦٠٠
٧٠٠
٨٠٠
٩٠٠
مل١٠٠٠

١٠٠
٢٠٠
٣٠٠
٤٠٠
٥٠٠
٦٠٠
٧٠٠
٨٠٠
٩٠٠
مل١٠٠٠

١٠٠
٢٠٠
٣٠٠
٤٠٠
٥٠٠
٦٠٠
٧٠٠
٨٠٠
٩٠٠
مل١٠٠٠

١٠٠
٢٠٠
٣٠٠
٤٠٠
٥٠٠
٦٠٠
٧٠٠
٨٠٠
٩٠٠
مل١٠٠٠  # �;���	
 �L �I ��� �,	
 �� �%�� �/ (.
��	 3 �y 97 �����	 �P 9��	  4

? ���%�A�	
 �L �I (��,� �,I 700 x� �"�8 r;�� �/ �0= ���%�A�	
 �L �I 
 W��	 x� �"�8 r;�� �/ , W� �A �1 �Q �)= �� �̀ �8=  5
  # �T�� �*�M^ �� 9��'

# �� �A ��	
 �� �+�,�� �- �I ��8$
� �) &' �b �|8� �+ �� �G
� �8 �;���	
 �L �I (��	 200 x� �"�8 rP
 �5 �s   6
? �P
 �5 �-�	
 \��� �" �I �Q �I�C �n8� �+���	 �_�� �"�� (S ���� 9Q �C �L �I W� �$/$�) �F �C 2	a �'

�� �$/$���	
 �� �A �1(��	 2
 W��	 4
 W��	 5
 W��	 8
�G �
 �A�	
  

# �T�,�I �J �U �I ���)�� �F�� ,H rQ�"�� �� �I , r
 �C �� �I , rL�N �� �IK � WI �
 �-�� �� �I ��9X ��  7
 &' 2��X �8 �P= �P/G (��	 1 �� �
 ��
��	
 �� �A �1 (.�M�M �J 5 &' �}�8 �5	
 �L �I (.
��	 10 x� �"�8 (;�� �/ �n8� �+ ��

  # r; �& �? �;�� ���	
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�� �$ �
	

6-12�L �I �5	


Period
�F �, �A ��

: �����	���	
 �� �"�R �Y	
 �F�~�6���* �} �I�� �' ,� �̀��6 �*
 �_ �� �-�� �Q �+ �� �� �I�)^ �h�6 �8 �J �.�G
$=
�Q8�*= 25 : �0 �����	
 ��8$��

�8�I 18 : �Q �+ �"�	
 ��8$��
# �Q �+ �"�	
 �
 �� �� �I �L �I �L�� ���X �1�= �Q�X �) : �.f �/��M	
/ &1
� �N�	
 �5 �O ��

# �Q �+ �"�	
 �
 �� �� �I �L �I (0� �8= 5 �Q�X �) : �Q �+ �"�	
 �� �� �� �G �4�1 �$^
# �Q �+ �"�	
 �
 �� �� �I �L �I (0� �8= 10 �Q�X �) : �0�A�M	
 �h�, �I

�8�I �� �̀ �?

5 4 3 2 1
12 11 10 9 8 7 6
19 18 17 16 15 14 13
26 25 24 23 22 21 20

31 30 29 28 27


�<
L�6�t
;��Y�	
;�A*$<
e��-	
�A�O	
}X�	


:&	���	
 �4 �/ �
 �O�	
 �4�� �C �t �F8�����	
 �0 �
 �-�� �1
 �F�� ,
 W
9� �M �� �"�R �Y	
 �= �� �)�

�Q �+ �"�	
 ���M �s

�Q �� �A�	
�0 �����	
��8$���	

 �Q �+ �"�	


�.f �/��M	
/ &1
� �N�	
 �5 �O ��
�� �� �� �
	
 �4�1 �$^

�0�A�M	
 �h�, �I

 WY �� �� �4 �/ �
 �O�	
 2	^ �� �7=
 , �Q �+ �"�	
 &' �� �J�O��^ �
8���

# ��8$���	
 �/ �0 �����	
 �G 9
 �� �/
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: �h �1�6 ���	
 �0 �����	��* �Q �V  1   �P �� ����
 =# W� �� �?�X �I �L���6 �� �t
 �0 �� �8 �Q�X �) &��� �8 xE�	
 �0 �����	
 �}�X ��	

 v#W� �� �?�X �I �e�� �-�	
 �0 �� �8 �
 �A �* &��� �8 xE�	
 �0 �����	
 �
 �� �<

 wM# �
 �� �<
/ �� �A �� �O�	
 �& �I �� �8 �L�� �* &��� �8 xE�	
 �0 �����	
 �� �A �� �O�	


:&,�8 � �� �I ZQ �C &' �! �
 �"�,�	 �h �1�6 ���	
 �� �̀ ��	
 �� �*���N�	 �� �8 �� �O �̀ �	
/ �� �8�GY���	
 �� �̀ �? �<
 �&�� ���R�) �0 �
 �-�� �1�
  2
�� �8 �� �O �̀ �	
 �� �̀ �? �<


r0 �� �" �Ir� �+ �V�4 �/ �<
 rU�* �$�� �s�
 rU�* �$
2	/ �<
 \G�� �M���������	
 \G�� �Mrh �M �$�P�X �A �?

rP�i �I �$r4
 �� �?�� �
 �A ���	
 /q�� �O �"�	
 /q

� QQQ &&&QQQ
������ ���88����

����444 ���� ���<<<<
�� r�
�� �8�GY���	
 �� �̀ �? �<


��8�68��8
�X'��$�I�Q8�*=
�8�I����8��	�8�eM��=

��X��X1��*��C=��X�'����X��8G

���M �+�	
 �
��  ����X �V ���� ��	
 9� �� ��	
 �h ���V ��8��� ��
���������� �t
 �
�R�) ���X �%	
 ���*�O�	
 �
 �� �� �<
 ��8� ��	
 �x ���X�6	
 �
�	 �� ���	
 �&�6 �I ���	
 �
�A�	


 �}�8 �� �N�	
 �F�	�A �I �L �I (G �
 �A�	 (.Y �� �$ �F�~�6���* �� �$

 ���	
 \
 ��^ &' �.��� �7�8 9�	
 xG�� �g8� �' �0�)  3
#� �̀	 �/��* � WR �
���X �I �`�6 �I ZQ �C ��8$�� �h �� �"�* �.
$�8 95	
 �T�,�� �h9� �$ # ���� �-8$���	


 �L �8 �� ���	
 �;

 �̀ �? �� �"�� �I
��X�'�� 2

�P���� �A�	
 �� �"�� �I
 ��*��C= 6

 �& ���,�A�	
 �� �"�� ���	

 ��*��C= 21

�� �� �� �<
 �� �%���	

��X��8G 15

  # �Q �� �C= 4
�U�*�1=  = � WI �� �8 42  wM � WI �� �8  = �U�*�1= 9  v � WI �� �8  = �U�*�1= 3  =
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�� �$ �
	

7-12������ �
 �A ���	
 �G���6	


Coins

�F �, �A ��
# �4 �/ �
 �O�	
 �Q �� �C= #�`�	 \� �s�= (.Y�� ���� �/ ������ �
 �A ���	
 �.Y ���A�	
 �L9��X �8 &	���	
 �4 �/ �
 �O�	


������ �
 �A ���	
 �� �, �� �A�	
rQ�� ����r� �s� rQ�� ����

    

? (e�, �' 100 �����' �L �I W� �
 ��
/ W����� �
 �A �I W� �A�M�) �4�G�A�� (��,�' 10 �����' �L �I W����� �
 �A �I W� �A�M�) �F �C c& �̀ �+ �? r��X �A ��

�P �� ����
# 9Q �N�	
 �� ���) �h�� �C�
 # �
 ��  1

 =

� W��, �'    

  v

� W��, �' 
 wM

� W��, �'  

  G

� W��, �' 
150



# �F �1 ��	
 &' �� �" �7 �� ���	
 �U�, 9�	
 �;
� ���	 �`���	^ �_�� �"�� &��	
 �� �8 �
 ���6	
 �U�M ���	
 �U 9� ��  2
 

� W� �, �' 150

  =

� W� �, �' 445

  v

#�� �$� �%	
 &' �� �" �7 �� ���	
 �����X�6	
 �x ���� �����	 �b���	� �% �� &' �G���6	
 �L �I � W| �,�X �I rF �?�� �� �' �/  3
# �T�� �*�M^ �y 97 �/ ?�`R�
� ���	 �� �G���� &+ �N�� �Q �̀ �'  

� W��, �' 385

?&	���	
 �� ���) �I  4
    �L �I (U�M�) 9

    �L �I (U�M�) 7

   �L �I W� �A�M�) 75
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8-12�����) �$ ���	
 �G���6	


Paper Money

�F �, �A ��
# �4 �/ �
 �O�	
 �Q �� �C= #�`�	 \� �s�= (.Y�� ���� �/ �����) �$ ���	
 �.Y ���A�	
 �L9��X �8 &	���	
 �4 �/ �
 �O�	


�����) �$ ���	
 �� �, �� �A�	
rQ�� ����r� �s� rQ�� ����

  c& �̀ �+ �? r��X �A ��
?      �Q�� �����	 �����) �$ ���	
 �.Y ���A�	
 �L �I �b���	^ �_�� �"�� (G �
 �� ���X �C= �� �� �I
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�P �� ����
# �L ����	
 �U �I �h �1�6�� �� &��	
 �U�M ���	
 �U 9� ��  1

 =

� W��,�' 750

  v

������ �G 8

# �T�	q �y 97 �/ # �� �O�� ���	
 �L �I �� �� �;
� �? �U�M�� ���� �L������ �? ���� �s�
 ,
 W$�68G 50 �T�A �I  2

�#G 20

 �#G 30

�#G 65

�#G 15

�#G 35

 �� �̀ �8 �
�	 �I �S�� �O �I , �P������ �
 �A �I �P�� �8 �
 �� �� �P�� �A�M�) �� ����= �U �I , r� �
 ��
/ r����� �
 �A �I �� �8 �
 �� �� r� �A�M�) ���X�I �U �I  3
# �F �1 �$�
 ?�� �̀ �� �� �J �� �"�* �P�N�� �P= �L�N �� �8 &��	
 �� �8 �
 ���6	
 �U�M ���	
 �& �� �I #

���X�I �U�M�)�� ����= �U�M�)

 �L������ �? �/ ,
 W$�68G 52 �`�6 �I ZQ �C �� �A �1 �;�� �?= 3 �x ���� ���� �P= �6�6�N �� �8 �Q �� , ($�68G 1 000 �6 �8 �
�	 �P�C 
q^   4
   # �T�� �*�M^ �� 9��' ?
 W$�68G 21 �� �̀ �6 �I ZQ �C �� �A �1
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9-12H�� �$� �%	
 �.���M �A �I �0 �
 �-�� �1�
K �Q�R�� ���	
 �Q ��

Problem Solving (Use Data from the Picture)

�F �, �A ��
�Q�R�� ���	
 9Q �� �Q�	 �G

�g�� �"�� �/ �U �M
$ �Q �� �F9M �s �F �̀ �'�


(2K �P
$�68G
 ($�68G 7

rU�* �$ �/
� W��, �' 350 ������ �G 4� W��, �' 750 /

 ������ �G 3
r� �%� � �/� W��, �' 650

# �F �1 ��	
 �T���N �Ia�* # �T�8 �
�	 �����)�X�	
 �G���6	
 �� �' �� �A ���	 �� �$� �%	
 �.���M �A �I �0 �
 �-�� �1�

�� ��
� �? �F�� �I�T�A �I&)�X�	


 =
�/=  (e�, �' z{�

 v
   

 wM

     G

  c& �̀ �+ �? r��X �A ��
 # �L���� �+�,�� �- �I �L���� ��8��M�*  �L ���� �Q�� �����	 �` �I �
 �-�� ���� �P= �L�N �� �8 &��	
 �.Y ���A�	
 �� �C �q�
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�P �� ����

r$�68G
r� �%� � �/ 

� W��, �' 950

� W� �, �' 225

� W��,�' 150

� W� �, �' 650

#�� �$� �%	
 �.���M �A �I �0

 �-�� �1��* �` �8 ���� ���� �P= �L�N �� �8 &��	
 �� �A �, 9�	
 �U 9� �� �F�� , 9Q �N�	
 �� ����) �h�� �C�
  1
  =

� W��, �' 

� W��, �' 

    v

�� ���I�'\��, �1

         2

# �T�� �*�M^ �� 9��' ? �x�= ��	
 �` ���'
��� �Q �� # �� ���I�' �U �I &��	
 �L �I ���� �C= 
 WG���� �` �A �I �P^ \��, �1 �4����

�Q�R�� ���	
 9Q �� �F�M �s
 •# ���	� �� ���	
 � �̀* �Q9� ���� �;�� �?= �0 �
 �-��1�

 •# W� �$�V �F �1 �$�

 •# (F ���� �L �� �� �"�*�

 •# �g�� �"�� �/ �L 9� �s
 •# �F�, ��	
 �Q�,A��	
 �0 �
 �-�� �1�

 •# W� �"�Rf �F9~��
 •# Wf �/ �
 �M �P 9� �C
 •# �F ���*= W��	� �� �I �Q ��
 •#&�A �M
���	
 �Q �"�	
 �v 9� �M
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10-12

�� �� �� �� ���������	
 �� �
 �� ���	
 �� �A �M
� �I

 :�� ���M �� ���	
 �0

-�� �1��* �e�) 1
F1  = �� �� �� �<
 �F�, ���	
 �4�I =

F1  = �� �i �s �<
 �F�, ���	
 �4�I v
#�� �X �1�6 ���	
 ���� ���	
 �� �
 �� ���* �Q �V 2

òلتر    �g8��M	
 �4�I  =
òãÇكيلوجر    (x�? �g8��*^ �� �A �1  v

òكيلومتر     �T�� �J �/ wM
 


�<
�6�t
;��Y�	
;�A*$<
e���
�A��
}X�	

��8�68 �� �̀ �?

7 6 5 4 3 2 1
14 13 12 11 10 9 8
21 20 19 18 17 16 15
28 27 26 25 24 23 22

31 30 29

 : �����	���	
 �� �,�� �1 �<
 �L �� �h �M=  3
 ? ��8�68 �� �̀ �? &' WY �I�C � W��X �1= �F �C =

  ? ��8�68 5 �L �I �L�� ���X �1�= �
 �A�* �P�N�8 xE�	
 ��8$���	
 �I  v
 ? ��8�68 �� �̀ �? �0� �8= �G �
 �� �I  v

 
# �Q �� �C= 4

FM  = FOC 1    =F1G 10 = 0   v(��	  = QI 2 000 wM

� WI �� �8  = �U�*�1= 4 G�U�*�1=  = � WI �� �8 35 w�(.
��6 �1  = 
 W� �̀ �? 36 /

�� �I�1�=r
�	�s  \
 �� �t �S ���X��,�	 
 WG���� �� �I�1�= �/ r
�	�s �U �� �M   5
r
�	�s �b �A �� �M xE�	
 �U�,�X ���	
 �I # �� �8 ���� �-�	
 �.��� �A �� �O�	


?� WA �I �� �I�1�= �/
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# ü  �U �7 ���* �� �"�" �%	
 �� �*�M �t
 ���� �s�
 6
  x/���8 �F �1 ��	
 &' �y �7 �� ���	
 �F�� �-�	
 �4�I =

FI 5F1 5F1G 5

�& ��  w�* �� �;
� �? �U�M�� ���� &��	
 ���X �A �,	
 v

 ������ �G 3
rU �* �$ �/ �������G 4

r� �%�� �/
 ������ �G 3

r� �%� � �/

�& �� �P �J ���	
 ���� ���	 �� �I �
 �-�� �� ���	
 ��
G �<
 wM

200
406080100

140160
120

 �P�N�8 �P= �L�N �� �8 �L�����6 �1 �
 �A�* (G�A �1 �4�I G
F1 120F1 140F1 160

x/����  w�
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(1) �����R� 9̀6	
 �� �A �M
� ���	


# (� �"�" �V ���� �� �� �$�X�A�	
 �}���C 
q^ û  �Q9, �� �/ , W� �"�" �V �� �$�X�A�	
 �}���C 
q^ ü  �Q9, �� 1
û ü 70 000 �& �� 672 135 �G �
 �A�	
 &' 7 �F �) ��,�	 �������N ���	
 �� �����	
 =
û ü 1 000 = 8 000 + 2 000 v

 
# ü  �U �7 ���* �� �"�" �%	
 �� �*�M �t
 ���� �s�
 2

x/���8 (��	= �v �� �)= 2	^ � W* �� �� �I 9 014 �G �
 �A�	
  =
909009 000

 : �� �� �� �� �� �� ��Y�� �/ � W+�	= �P������ �/ r� �A �* �$= �G �
 �A�	
 �5 �I �$  v
84 0138 4131 384

#� ]8 �
 ���%�� �h9� �$  3
 ¡  ¡    5 071   ¡   519   ¡   5 222 

# ������6	
 �
 �M �/= 4
8 4 7

+5 9 1 7
  =5 0 6 3

−1 1 3 4
  v

# �4�` �O ���	
 �G �
 �A�	
 �
 �M �/= 5
23 = 7 +   =27 =  - 59  v

  ? �P
G �
 �A�	
 �P
E� �� �� ���' ,5 �� �̀ �6�� �* �� �� �+�	
/ 21 �� �̀ ���� �O �I �P
G �
 �� 6
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(2) �����R�`96	
 �� �A �M
� ���	


# (� �"�" �V ���� �� �� �$�X�A�	
 �}���C 
q^ û  �Q9, �� �/ , W� �"�" �V �� �$�X�A�	
 �}���C 
q^ ü  �Q9, �� 1
û ü 4 &)�X�	
 5 = 5 ÷ 19 =
û ü 300 = 50 × 6 v

 
# ü  �U �7 ���* �� �"�" �%	
 �� �*�M �t
 ���� �s�
 2

: �� �� &,�8 �I &' �& �M �/ �5	
 �G �
 �A�	
 =
7584117

íæسا õي úم õهúن öلٍّ م õك óصيب óن َّäفإ .íæالتَّساöب öة óلثَّلاثÇ ها öÏلا úæÃ لى óع Ç ðÑيناÏ 75 óيعÒ úو óت ُّãõ úلأÇ öÊóÏÇÑÃ ÇÐÅ  v
óنانير óÏ 10Ç ðÑيناÏ 15Ç ðÑيناÏ 25

32 ¡8 ¡4 �G

 �� ���	 �g�R�� �"�	
 �� �,�R�� �h�� �C�
 3
 

# �Q �� �C= 4×68957
100     

.(÷ úæÃ × �/= − �/= + K �h �1�6 ���	
 �����, �� �A�	
 �5 �I �$ �U �7 5
81 = 9  9 =18 =  9 9 v0 = 9  9 wM

 
# ������6	
 �
 �M �/= 6

6 9
×3

  = 7 0 2
×8

  v 5255   wM = 50 × 3 × 4 G
 = 7 × 6 + 9 w�
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(3) �����R�`96	
 �� �A �M
� ���	


# (� �"�" �V ���� �� �� �$�X�A�	
 �}���C 
q^ û  �Q9, �� �/ , W� �"�" �V �� �$�X�A�	
 �}���C 
q^ ü  �Q9, �� 1
û                 ü F1 15 > F1G 15 =
û                 ü #�#� 4:00 �� ��� ��	
 �g�'
��� 16:00 �� ��� ��	
 v

 
# ü  �U �7 ���* �� �"�" �%	
 �� �*�M �t
 ���� �s�
 2

x/���8 �.
�����6 ��	��* �b�	�I �Pa' , ($��I= 9 �b�	�I r_ ���* =
F1 90F1 900F1 9 000

óو õه ��	 �  öÁنا úلإÇ Çن هذ öلِّه م õك öصير óع úلÇ öريغ úف óتöها ل úي óلÅ õÌتا úح óلَّتي نÇ 250QI  õÏ óد óع v
128 4

 # �� �8 �
 ���6	
 �� �����	
 �h�� �C�
 3
 

&, �8 � �� �I ZF �s 9Q �C �4�I �Q 9O �1 �/ �e�) 4
 wM       v   =

# �� �̀ �~	
 �Q�X �) �`* �0���� &��	
 ���M ���� �<
 �U 9� �� 5
�y�X �%	
 ��Y �V �;
G=�;���A�	
 �0�A�I �4 �/�6 ���� �1 �$ �
 ���	
 2	^ �v�� �E	
�e �� ��	
 �v/� ��

# �L���� �+�,�� �- �I �L���� ��8��M�* �}�) ���	
 �h�� �C�
 6
١

٣
٤

٥٧
٨

٩
١٠

١١

# �}�) ���	
 �L9��X���	 �� ��� ��	
 �&�* �� �� �� �F �1 �$�
  7
١

٣
٤

٥٧
٨

٩
١٠

١١  �g�R�) �G 10 �f^ ���������	
 �� ��� ��	
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